Pairwise scatterplots of PCs

© | war=may e 1‘
. K
~ ° .
=
So_|
n 1
o LY
. 3
- ]
: 1
T T T T T
-3 -2 -1 0 1
estpc|, 1]
MLP, no penalty (k = 10, 20, 40)
<
=
o
&
=N
s
o]
© TTT T T T T 1
0 10000 25000
Index
MLP, with penalty (k = 10, 20, 40)
<
=
o
&
=N
s
o]
© TTT T T T T 1
0 10000 25000
Index

™ — Y
N_.
AN N :
[S) .
=3 Y
$°] S
o )
T‘_ f" -#A
© .
o _ ° o
! T T T T
-2 -1 0 1
estpc|, 3]
<
3
u
@
=N
N
o_|
© TTT T T T T 1
0 10000 25000
Index
<
3
u
@
=N
N
o_|
© TTT T T T 1
0 10000 25000
Index

estpc], 40]
1.0

0.4

fitSE

0.2

0.0

0.4

fitSE

0.2

0.0

-1.0 0.0 1.0
estpc|, 39]

1 T T T T 1
0 10000 25000
Index
1 T T T T 1
0 10000 25000

Index




